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ENGLISH VERSION

Instruction : (1) Answer MCQ only in answer sheet.

(2) Marks are shown on the right side of
question.

(3) Answer all the questions to the point and
with calculation.

SECTION - 1

1 MCQ. 20
(1) "JIT" Approach is a part of .......... management system.
(A) Japanese

(B) Indian
(C)  American
(D) Best

(2) From the following techniques, which is not the technique
if JIT approach ?

(A) ABC Analysis
(B) Kanban technique
(C) Inventory management technique
(D) Total quality control
(3) What is MRP-II ?
(A) Manufacturing resource planning
(B) Machinery resource planning
(C) Manpower requirement planning
(D) Manufacturing resource programme
(4) Application of total quality control means .........
(A) Zero defect production
(B) Pre-determined defect production
(C) Standard defect production
(D) None of them
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(5)  What is full form of CPM ?
(A) Critical path method
(B) Critical project method
(C) Complicated path method
(D) None of these
(6) In which years, PERT and CPM were introduced ?
(A) 1918-1919
(B) 1947-1948
(C) 1939-1940
(D) 1957-1958
(7) Networking capital means ?
(A) Total current assets
(B) Total current assets + Total fixed assets
(C) Total fixed assets - current debts
(D) Total current assets - Total current debts
(8) From following, which is not included in current assets ?
(A) Goodwill
(B) Investments
(C) Debenture discount
(D) None of these

(9) In cash flow statement, Income-tax paid is recorded in .........

activity.
(A) Investment
(B) Working capital
(C) Operating
(D) Financial
(10) SQC is related with .........
(A) Quantum of production
(B) Economic analysis
(C) Sales department

(D) Quality of the product
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(11) Who is connected with historical cost approach ?
(A) Brummet
(B) Flam Holtz
(C) Pyle
(D) All of the above

(12) R-graph is compulsory, before which graph ?

N
(B) X
©) np
D) n

(13) MRP word was first time pronounced by ............
(A) Fujio-cho
(B) Ollie weight
(C) Hirschmann
(D) None of them

(14) As per learning curve model, what is the effect of 80%

learning curve rate
(A) Decrease the production time by 80%
(B) Decrease the production time by 20%
(C) Increase the production time by 80%
(D) Increase the production time by 20%
(15) In Maxi-max criterion, decision maker is ..........
(A) Pessimistic
(B) Doubtful
(C)  Optimistic
(D) Uncertain
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(16) Which are of the following quality control chart are chart for

defective ?

(A) X and R
(B) X and b
(C) P and np

(D) C and ¥
(17) If A and B are independent events then ............

(A) P(AUB)=P(A)+P(B)

(B) P(AnB)=P(A)-P(B)

(©) P(AnB)=P(A)-P(B)

D) P(AUB)=P(A)+P(B)-P(ANB)

(18) Probability of any event lies between ............

(A) -1 to 0
@) -1 to +1
© 0tol

(D) one and more than one (2 1)

(19) Full form of SCBA is .................
(A) Social cost benefit analysis
(B) Social cultural basic activities
(C) Social cost bonafide approach
(D) Social cost but against benefit

(20) According to opinion of shri william patty, workers are father

(A) Assets

(B) Profit-Loss
(C) Hard work
(D) Service
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SECTION - 11

The summarized Balance Sheets of Ram Ltd. as on 13
31-3-2014 and 31-3-2015 are as follow :
Liabilities 31.3.14 31.3.15 | Assets S1.3.14 31.3.15
Share capital 3,00,000 4,00,000 | Fixed assets 8,00,000 9,560,000
Capital Liess
reserve - 10,000 | Depreciation 2,580,000 2,90,000
General reserve 1,70,000 2,00,000 | Net assets 5,70,000 6,60,000
P & L Al 60,000 75,000 | Investments 1,00,000 80,000
Debentures 200,000 | 1,40,000 | Stock 54,000 75,000
Creditors 1,20,000 | 1,830,000 | Debtors 1,50,000 | 2,00,000
Tax Cash 76,000 55,000
provision 90,000 85,000 [ Preliminary
Proposed expenses 20,000 10,000
dividend 30,000 56,000
Unpaid
dividend 4,000
9,70,000 | 10,80,000 9,70,000 | 10,80,000
During 2014-2015, the company :
(1) Sold one machine for Rs. 25000, the cost of machine was
Rs. 64,000 and depreciation provided for it amounted
to Rs. 35000.
(2)  Provided Rs. 95,000 as depreciation.
(3) Redeemed 30% of debentures at Rs. 103.
() Sold investment at profit and credited to capital reserve.
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(5) Decided to value the stock at cost, whereas earlier the

stock practice was value of stock at cost less 10%. The

stock according to books on 31-3-2014 was Rs. 54,000
and on 31-3-2015. Which was correctly valued at cost.

You are required to prepare statement of source

and application of fund.

OR

2 The Definition of fund flow statement and explain the 13
process of fund flow statement.

3 The following are the summarized Balance Sheets of 13
Mahesh Wood Products Ltd as on 318t December, 2013 and
2014

Balance Sheets
Liabilities S-12-13 21-12-14| Assels S-12-13 al-12-14
Share capital 1,00,000 1,00,000 | Fixed assets 80,000 60,000
General reserve 50,000 52,000 | Investments 10,000 12,000
P & L. Al. 12,000 15,000 | Stock 48,000 42,000
Creditors 35,800 95,800 | Debtors 42,000 91,000
Provision for Bank 35,800 42,800
tax 18,000 5,000
Mortgage loan . 50,000
2,15,800 2,47,800 2,15,800 2,47,800
Additional Information :
(1) Investment costing Rs. 1,600 were sold during the year
2014 for Rs. 1700.
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(2) Provision for tax made during the year 2014 was

Rs. 2,000.

(3) During the year 2014 past of fixed assets book value
Rs. 2,000 was sold for Rs. 2,400. The Profit was Included

in Profit and lLoss Alc.

(4) Dividend paid during the year 2014 amounted
Rs. 10,000.

to

From above mentioned information prepare cash

flow statement as per accounting standard no. 3.

You are required to show all calculations as part

of the answer.

OR
3 State the utility and limitations of cash flow analysis. 13
4 (A) Draw the net-work figure from below describe data : 6
Activity Immediately proceeding activity
A -
B o, -
C A
D B
(B) Mr. Rakesh Manager, Raj Bank have two options 6
which option he has to select is confused. Kindly advise
him to select the appropriate option using decision tree
(customer not paying 8% loan).
Option 1 : Company has to sanction the loan of
Rs. 20,000 on 10% yearly interest rate.
Option 2 : Company has 9% of fixed yearly interest on
to invest mortgage of Rs. 20,000.
OR
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4 (A) Difference between PERT and CPM. 6

(B) Statistical quality control. 6
5 Write notes of following on any two : 12

(1) Just in time (JIT) approach

(2) Importance of human resource accounting

(3) Explain the phases of social expenses benefit analysis

(4 EKxplain social responsibility accounting.
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